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Hints and Solutions

1) Ans: 2)A=1,B=p,C=5s,D=q
2) Ans: 4) Rajasthan

3) Ans: 3) Anatomy

Sol: Anatomy is the branch of Botany. It deals the
study of internal structure of plants. N. Grew is the
father of Anatomy (1682) and coined the term
tissue and parenchyma.

4) Ans: 1) Amanita
5) Ans: 2) Hereditary diseases
6) Ans: 1) Arboretum

7) Ans: 1) Open furcate
Sol: Leaflets show furcate/open dichotomous
venation. Veins branch dichotomously. It is known
as furcated venation

8) Ans: 2) Growth without differentiation

10) Ans: 4) Maintenance of normal blood sugar
level

Sol: Since maintenance of blood sugar
function of endocrine pancreas.

9) Ans: 1) Peroxisomes

elis the

11) Ans: 4) All of these

12) Ans: 4) Nitrous oxide .
Sol: In addition to CO., someg
contribute to green house t. These include
ozone, CFCs, nitrous oxiflgssand even methane.
Nitrous oxide is formedyby«denitrifying bacteria
acting on artificial fertiliz€rs applied to poorly
aerated soils.

13) Ans: 4) By Wcaj conversion of food into

er gases also

living matter
14) Ans: 3) radiation therapy

15) Ans: 4) For increased absorption of water

Sol: A plant with deep and elaborate root system
can absorb more water. Moreover, the number of
root hairs will be more in a highly branched and
elaborate root system, therefore its more surface
area will be in contact with water.

16) Ans: 4) Escherichia coli

17) Ans: 1) cardiomegaly

18) Ans: 4) Every cell of th
Sol: Spirogyra increase% body length because
every cell of the filament”is capable of growth
division and self &aﬁnance (every cell has
nucleus).

19) Ans: 1) Cl

Sol: Since cldyyparticles are tiny and sticky in
nature.

20) Ans: 3)"Grouping according to evolutionary
trends

21) &él Occulomotor, abducens, spinal

Sol* 6th, 11th cranial nerve are respectively
occ otor, abducens and spinal accessory. All of

ese are motor nerve.

%2) Ans: 1) 64 codons, each with three nucleotides

ol: A single amino acid is specified by a sequence
of three nucleotides in mRNA called codon.
Because of triplet nature, it consists 64 codon.

23) Ans: 2) Jointed appendages and chitinous
exoskeleton

24) Ans: 2) Lysosomes

25) Ans: 4) Urea, ammonia and creatinine

26) Ans: 3) Mesophytic
27) Ans: 1) C
Sol: Cu - Cop
plastocyanin | (between PS I
cytochrome to oxygen.

Mg - Manganese is activator of a number of
enzymes such as reductases, oxidases, etc. taking
part in respiration and photosynthesis.

Fe - Iron is|component of e transferring bio-
molecules as ¢ytochromes and ferredoxin. They are
essential components of photosynthesis.

, Mn, Fe
r takes part in electron transport as
and PSI) and

28) Ans: 2) Secretory tapetum

29) Ans: 1) Ainode

Sol: In Opuntia, each segment or phylloclade is a
branch which' arises in the axil of a caducous leaf
and possesses raised areas or areoles representing
nodes.







